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NEW QUESTION 1

A cloud administrator is asked to configure access to the VMware Cloud Services Console based on the following requirement:

» Groups and users should be synchronized from the internal Active Directory Which two options should the administrator configure to meet this requirement?
(Choose two.)

A. Workspace ONE Access connector

B. Enterprise federation with dynamic (connectorless) authentication setup
C. SAML 2.0 Identity Provider

D. Enterprise federation with connector-based authentication setup

E. Workspace ONE Assist

Answer: AC

Explanation:

The Workspace ONE Access connector is used to synchronize groups and users from the internal Active Directory to the VMware Cloud Services Console.
Additionally, the administrator should configure a SAML 2.1 Identity Provider to enable single sign-on (SSO) capability and secure access to the VMware Cloud
Services Console.

NEW QUESTION 2
Which two features of the VMware cloud on AWS platform are part of service management process? (Choose two.)

A. VMware Tools management

B. Microsoft licensing management
C. Incident management

D. Workload OS management

E. Capacity management

Answer: CE

Explanation:

Incident Management is responsible for handling customer incidents and ensuring customer satisfaction. Capacity Management is responsible for ensuring that the
service is sized appropriately for customer needs and that the capacity is monitored to ensure that it meets customer requirements. VMware Tools management,
Microsoft licensing management, and workload OS management are not part of the service management process.

What is a Hypervisor? | VMware Glossary https://www.vmware.com/topics/glossary/content/hypervisor.html VMware Cloud on AWS Operations Guide
https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/vmc-aws-operations.pdf What is a Bare Metal Hypervisor?| VMware Glossary
https://www.vmware.com/topics/glossary/content/bare-metal-hypervisor.html

NEW QUESTION 3

A Cloud Administrator is tasked with choosing a correct Elastic DRS policy. The existing VMware Cloud on AWS environment consists of a single cluster with two
hosts.

The following guidelines regarding the expected performance must be met:

2 The cluster should be able to scale automatically when additional resources are required.

> Application performance should NOT be affected when the cluster scaling operation is being performed.

Which Elastic DRS policy should the cloud administrator Select?

A. Optimize for Best Performances
B. Elastic DRS Baseline

C. Optimize for Rapid Scale-Out
D. Optimize for Lowest Cost

Answer: B

Explanation:

Based on the given guidelines, the cloud administrator should select the Elastic DRS Baseline policy[1]. This policy is designed to scale the cluster automatically
when additional resources are required, while also ensuring that application performance is not affected during the scalingoperation. The Elastic DRS Baseline
policy also ensures that resources are allocated efficiently and optimally[1], to minimize cost while ensuring that performance requirements are met.

For more information on the Elastic DRS Baseline policy[1], see the VMware official documentation athttps://docs.vmware.com/en/VMware-Cloud-on-
AWS/services/com.vmware.vmc-aws.sddc-management/GUI

NEW QUESTION 4
An administrator is tasked with collecting a support bundle from a Tanzu Kubernetes cluster for a support case. How can the administrator collect this support
bundle for the Tanzu Kubernetes cluster?

A. Run the -tkc-support-bundler command.

B. Run the kubactl logs my-pod command

C. Run a compression tool of the log files located in /var/log/vmware/wcp/.
D. Run the vm-support command.

Answer: A

Explanation:

https://kb.vmware.com/s/article/80949

Tanzu Kubernetes Grid (TKG) provides a command line tool called tkg-support-bundler which can be used to collect the necessary information and logs for
troubleshooting and support cases. The command can be run on the TKG CLI and it will gather all the necessary information and logs from the TKG control plane
and worker nodes, and package them into a single compressed bundle file. This bundle file can then be provided to VMware support for further analysis.
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NEW QUESTION 5
A cloud administrator requires an external secure connection into their data center to use Border Gateway Protocol (BGP). Which connection type can they use to
connect to an Instance of VMware Cloud?

A. Policy-based virtual private network (VPN)
B. Public IPs over the Internet

C. Private L2 virtual private network (VPN)
D. Route-based virtual private network (VPN)

Answer: D

Explanation:

https://docs.vmware.com/en/VMware-Cloud-Disaster-Recovery/services/vmware-cloud-dr-security-best-practic A cloud administrator requires an external secure
connection into their data center to use Border Gateway Protocol (BGP). The best connection type to use for this purpose is a Route-based virtual private network
(VPN). This type of VPN is secure, as it uses encryption and authentication to protect the data transmitted over the connection. Additionally, it allows for the
configuration of BGP to ensure that the data traffic is routed to the desired destination.

PREPARING FOR VMWARE CLOUD ON AWS

https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/products/vmc-aws/preparing-for-vmwar

Publishing Applications with VMware Horizon 7 https://vcdx.vmware.com/content/dam/digitalmarketing/vmware/ru/pdf/techpaper/vmware-horizon-7-application
What is Network Virtualization? | VMware Glossary

https://www.vmware.com/topics/glossary/content/network-virtualization.html

NEW QUESTION 6
Which three functions are provided by the components within the Kubernetes control plane? (Choose three.)

A. Balances pods across the nodes within a Kubernetes cluster.

B. Ensures that containers are running in a pod.

C. Configures network rules to route traffic to containers within the Kubernetes cluster.
D. Stores Kubernetes cluster data in a key-value data store.

E. Watches the API for changes and responds with appropriate actions.

F. Stores and distributes container images.

Answer: ADE

Explanation:
https://kubernetes.io/docs/concepts/overview/components/#control-plane-components

NEW QUESTION 7
A company needs to Increase its Infrastructure capacity quickly to accommodate their rapid business growth. Which cloud use case describes their requirement?

A. Maintain and Modernize
B. Consolidate and Migrate
C. Disaster Recovery

D. Maintain and Expand

Answer: A

Explanation:
https://www.vmware.com/mena/topics/glossary/content/digital-transformation.html

NEW QUESTION 8

A cloud administrator successfully configures a policy-based VPN between an on-premises data center and an instance of VMware Cloud Software-defined data
center (SDDC). Although the workloads are reachable from both locations over the IP network, the cloud virtual machines cannot access an on-premises web
service. What should the cloud administrator check first to resolve this issue?

A. On-premises DNS settings

B. VMware Cloud DNS settings

C. On-premises gateway settings
D. VMware Cloud gateway settings

Answer: B

Explanation:

https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vmc-aws-networking-security/GUI

NEW QUESTION 9

What is one way in which VMware Multi-Cloud addresses challenges with the cloud computing model?

A. Provides savings on capital expenses and the use of a flexible payment structure where payment Is only done based on the resources used.

B. Provides visibility and tools to manage resources, workloads and operations across clouds from a common operating environment.

C. Eliminates worry associated with managing IT infrastructures and shifts focus to application development and other priorities using the most up-to-date
technology.

D. Increases agility that encompasses scalability, customizability, and access to the cloud service from anywhere and on any device.

Answer: B

Explanation:
https://www.vmware.com/topics/glossary/content/multi-cloud.html
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VMware Multi-Cloud provides visibility and tools to manage resources, workloads and operations across clouds from a common operating environment. This
eliminates the need to manage multiple cloud environments in different clouds and provides a unified view of all cloud resources and applications. This makes it
easier to monitor and manage workloads across clouds, reducing complexity and increasing agility.

VMware Multi-Cloud also provides powerful automation and orchestration capabilities to help streamline operations and improve efficiency. [1]
[1]https:/iwww.vmware.com/products/vmware-multi-cloud.html

NEW QUESTION 10

A cloud administrator Is tasked with deploying two virtual machines (APP0O1 and APP02) to a

software-defined data center (SDDC) with multiple clusters hosted In VMware Cloud on AWS based on the following requirements:
* APPO1 and APP02 should NOT run on the same host.

* Only three hosts in the SDDC are entitled to run the software installed on these servers.

* All entitled hosts are in cluster 1.

Which two actions should the administrator take to meet these requirements? (Choose two)

A. Create a Disable DRS vMotion policy.

B. Create a VM-VM anti-affinity policy.

C. Deploy APPOL1 to Cluster 1 and APPO2 to cluster 2. a Create a VM-Host anti-affinity policy.
D. Create a VM-Host affinity policy.

Answer: BD

Explanation:
YR T
A WM-YM ante-atlinity policy describes a relationship betweaen members of a
category of WMs
Lse case
When you want 1o place VMs running critical workloads on separate hosts 5o that
the fallure of one host does not affect other WMs in the category

Graphical user interface, text, application, email Description automatically generated

NEW QUESTION 10

A cloud administrator needs to create a secure connection over the Internet between an on-premises data center and a VMware Cloud software-defined data
center (SDDC).
Which solution can accomplish this goal?

A. VMware Site Recovery Manager
B. VMware vRealize Network Insight
C. VMware NSX

D. VMware Cloud Director

Answer: C

Explanation:

VMware NSX is a network virtualization and security platform that provides a range of features for creating and managing virtual networks, including the ability to
create secure connections over the Internet between on-premises data centers and VMware Cloud software-defined data centers (SDDCs). NSX allows you to
create logical networks that are isolated from the underlying physical infrastructure, providing enhanced security and flexibility. With NSX, you can create secure,
encrypted connections between your on-premises data center and your VMware Cloud SDDC, allowing you to easily and securely connect your workloads and
applications running in the cloud to your on-premises resources.

NEW QUESTION 13
Refer to the exhibit.
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A cloud administrator is investigating a reported performance issue on a virtual machine (VM). The administrator observes low latency on the datastore but high
latency within the VM. The administrator notes that it is a standard operating procedure to take a snapshot of the VM whenever there is an application or operating
system upgrade on this VM.

Based on the exhibit, which snapshot characteristic will result in performance degradation?

A. Snapshot chain length
B. Snapshot size
C. Snapshot type
D. Snapshot age

Answer: A

Explanation:

https://www.nakivo.com/blog/vmware-snapshots-vsphere-how-to/#title-12 Follow these recommendations to get the best performance when using snapshots:

- Use snapshots as a temporary measure only.The presence of snapshots can have a significant impact on guest application performance, especially in a VMFS
environment, for I/O intensive workloads. The guest applications fully recover performance after snapshots are deleted.

- Keep the snapshot chain length short when possible, to minimize the guest application performance impact.Performance degradation is higher as the snapshot
chain length increases.

- If you need to increase the size of a virtual disk that has snapshots associated with it, you must delete the snapshots first before you can increase the virtual
disk's size.

NEW QUESTION 18
A cloud administrator is looking for a unified solution to collect and analyze security events for troubleshooting from: VMware vSphere Windows Operating
Systems Physical servers Web servers Database servers Amazon Web Services Which VMware Cloud service can meet this requirement?

A. VMware vRealize Automation Cloud

B. CloudHealth Secure State

C. VMware vRealize Log Insight Cloud

D. VMware vRealize Network Insight Cloud

Answer: C

Explanation:
https://blogs.vmware.com/management/2022/08/forwarding-vsphere-audit-and-authentication-events-from-vreal

NEW QUESTION 20
Which two key components are required in every instance in the VMware Cloud software-defined datacenter (SDDC)? (Choose two.)

A. VMware vSphere

B. VMware vRealize Operations

C. VMware Tanzu Kubernetes Grid
D. VMware NSX-T

E. CloudHealth by VMWare

Answer: AD

Explanation:

The correct answers are A and D. Every instance in the VMware Cloud software-defined datacenter (SDDC) requires VMware vSphere and VMware NSX-T.
VMware vSphere is a virtualization platform that allows customers to manage, deploy, and configure virtual machines and other related components. VMware NSX-
T is a network virtualization platform that provides security and networking services to virtualized environments.

NEW QUESTION 23
A cloud administrator with an existing virtual private cloud (VPC) needs to create a dedicated connection to VMware Cloud on AWS. Which connection type would
meet this requirement?

A. Public virtual interface
B. AWS Direct Connect
C. Transit virtual interface
D. Private virtual interface

Answer: B

Explanation:
The best option to meet the requirements of creating a dedicated connection to VMware Cloud on AWS is to use AWS Direct Connect. AWS Direct Connect
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provides a dedicated network connection between an

on-premises data center and the Amazon Web Services (AWS) cloud, allowing for the transfer of data across the two locations. It is more reliable and has lower
latency than other options such as public virtual interface, transit virtual interface, and private virtual interface. Additionally, AWS Direct Connect provides the
highest performance and throughput of any of the on-premises data center connectivity options.

Why does VMware refuse to educate their customers ... - VMware ... https://communities.vmware.com/t5/VMware-Education-Services/Why-does-VMware-refuse-
to-educate-their-c VMware Technical Support Guide

https://www.vmware.com/pdf/techsupportguide.pdf Publishing Applications with VMware Horizon 7
https://vcdx.vmware.com/content/dam/digitalmarketing/vmware/ru/pdf/techpaper/vmware-horizon-7-application

NEW QUESTION 24

A cloud administrator is managing a VMware Cloud on AWS environment containing of a single cluster with three hosts. Which acts recovery site for the on-
premises environment. The on-premises environment consists of eight hosts. what should the cloud administrator configure to optimize scaling for full disaster
recovery?

A. Configure an Elastic DRS policy and set the maximum cluster Size to 8.

B. No Additional configuration is required Default Elastic DRS will fulfill the requirement
C. Configure an Elastic DRS policy and select 'Optimize for Rapid scale-out'.

D. Configure an Elastic DRS policy and set minimum cluster size to 8.

Answer: C

Explanation:

According to the VMware official documentation, in order to optimize scaling for full disaster recovery in a VMware Cloud on AWS environment, it is necessary to
configure an Elastic DRS policy and select 'Optimize for Rapid scale-out' as the policy type. This option allows for a rapid increase in the number of hosts within the
cluster, which is necessary for full disaster recovery. For more information, please refer to the VMware Cloud on AWS Disaster Recovery Guide, which can be
found

here:https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/VMware-Cloud-on-AWS-Disaster-Recover

NEW QUESTION 29
Refer to the exhibit.

A cloud administrator is deploying a new VMware Cloud on AWS virtual private cloud (VPC). After clicking on deploy, the screen refreshes and displays the
information that is provided in the exhibit.
What is the issue with the management CIDR that is causing the deployment to fall?

A. It overlaps with the AWS subnet.

B. It overlaps with the AWS VPC CIDR.
C. ltis part of the reserved CIDRs.

D. Itis an invalid size.

Answer: A

Explanation:

https://docs.aws.amazon.com/whitepapers/latest/sddc-deployment-and-best-practices/deploying-vmware-cloud-o must be a RFC1918 private address space
(10.0.0.0/8, 172.16.0.0/12, or 192.168.0.0/16) with CIDR block sizes of /16, /20, or /23. The management CIDR block cannot be changed after the SDDC is
deployed. Choose a range of IP addresses that does not overlap with the AWS subnet you are connecting to. If you plan to connect the SDDC to an on-premises
DC or another environment, the IP subnet must be unique within your enterprise network infrastructure. Choose a CIDR that will give you future scalability.

NEW QUESTION 33
A cloud administrator is establishing connectivity between their on-premises data center and VMware Cloud. The Administrator wants to leverage Border gateway
Protocol (BGP) to Dynamically learn when new networks are created. Which type of VPN should the administrator configure to accomplish this?

A. Layer 2 VPN

B. SSL VPN

C. Policy-based IPSec VPN
D. Route-based IPSec VPN

Answer: D
Explanation:
Route-based IPSec VPNs provide the flexibility to dynamically learn when new networks are created, making them the ideal choice for establishing connectivity

between an on-premises data center and VMware Cloud. Route-based IPSec VPNs use the Border Gateway Protocol (BGP) todynamically learn and propagate
routes over the VPN tunnel, allowing for scalable and secure connectivity. [1]
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[1]https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vmc-aws.networking/GUID-ED

NEW QUESTION 37
Which statement accurately describes vSphere distributed switches? (Select one option)

A. A distributed switch is a virtual switch that is configured for a single ESXi host.

B. A standard switch is different from a distributed switch in that standard switches contain VMkernel ports.

C. Each ESXi host can have only one distributed switch configured at any time.

D. A distributed switch is managed by vCenter Server for all ESXi hosts associated with the distributed switch.

Answer: D

Explanation:

A distributed switch is managed by vCenter Server for all ESXi hosts associated with the distributed switch. A standard switch is different from a distributed switch
in that standard switches contain VMkernel ports, but the entire configuration is managed by each ESXi host. A distributed switch is managed by vCenter Server
for all ESXi hosts associated with the distributed switch and can contain multiple VMkernel ports. Each ESXi host can have multiple distributed switches configured
at any time.

NEW QUESTION 39

A cloud administrator needs to extend a network and requires that routing be handled at the source. Which network segment type does VMware HCX Network
Extension create in the VMware Cloud

software-defined data center (SDDC) when extending the network?

A. Extended

B. Routed

C. Private

D. Disconnected

Answer: B

Explanation:

https://docs.vmware.com/en/VMware-Validated-Design/services/sddc-extending-to-vmware-cloud-on-aws/GUI https://docs.vmware.com/en/VVMware-HCX/4.5/hcx-
user-guide/GUID-4052AC3F-9FFC-4FA2-ACB4-18B296

VMware HCX Network Extension creates a routed network segment type in the VMware Cloud

software-defined data center (SDDC) when extending the network. This routed segment is used to connect the on-premises environment with the VMware Cloud
SDDC, allowing traffic to flow between the two. The other options (extended, private, and disconnected segments) are not created by Network Extension.

NEW QUESTION 43

A cloud administrator wants to view and manage workloads across both an on-premises environment and a VMware Cloud on AWS software-defined data center
(SDDC).

Which solution meets this requirement?

A. Enhanced Linked Mode
B. VMware HCX

C. vCenter Single Sign-On
D. Hybrid Linked Mode

Answer: B

Explanation:

VMware HCX is a cloud migration and workload mobility solution that allows you to view and manage workloads across both an on-premises environment and a
VMware Cloud on AWS software-defined data center (SDDC). It provides a secure[1], cross-cloud network bridge between your on-premises environment and
VMware Cloud on AWS, allowing you to move workloads between the two environments with minimal effort. It also provides a unified view of both environments,
allowing administrators to monitor and manage workloads across clouds from a single pane of glass. [1]
[1]https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vmc-aws.hybrid-cloud-extensio

NEW QUESTION 45

A cloud administrator Is tasked with creating a new network segment In the software-defined data center that utilizes the corporate DHCP server to provide IP
addresses.

What is the proper sequence to create the required network segments?

A. * 1- Create a new segment attached to the Tler-0 gateway* 2. Configure the segment DHCP Ip-helper

B. * 1. Create a DHCP server profile* 2. Create a new segment attached to the Tler-0 gateway* 3. Configure the segment DHCP config to utilize the new DHCP
server profile

C. * 1. Create a new segment attached to the Tier-1 gateway* 2. Configure the segment DHCP ip-helper

D. * 1. Create a DHCP relay profile* 2. Create a new segment attached to the Tler-1 gateway* 3. Configure the segment DHCP config to utilize the new DHCP
relay profile

Answer: B

Explanation:

https://docs.vmware.com/en/VMware-NSX-T-Data-Center/3.1/administration/GUID-BF536 EEF-7AC3-47D0-B According to the VMware Exam Guide for Cloud
Professional Exam

(https://mylearn.vmware.com/mgrreg/courses.cfm?ui=www_edu&a=one&id_subject=45954),"To create a new network segment that utilizes the corporate DHCP
server to provide IP addresses, the following sequence should be used: Create a DHCP server profile, create a new segment attached to the Tler-0 gateway, and
configure the segment DHCP config to utilize the new DHCP server profile."

NEW QUESTION 47
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Which three factors should a cloud administrator consider when sizing a new VMware Cloud software-defined data center (SDDC) to support the migration of
workloads from an on-premises SDDC? (Choose three.)

A. Total number of 10Gb network ports required

B. Host hardware type in the target VMware Cloud

C. Total number of on-premises hosts

D. Total number of workloads

E. Total amount of available storage across all on-premises datastores
F. Average size of workload resources (CPU & RAM)

Answer: DEF

Explanation:

> Total number of workloads. This determines how many hosts are needed in the VMware Cloud SDDC cluster.

> Total amount of available storage across all on-premises datastores. This determines how much storage capacity is needed in the VMware Cloud SDDC
cluster.

> Average size of workload resources (CPU & RAM). This determines how much compute capacity is needed in the VMware Cloud SDDC cluster.
https://docs.vmware.com/en/VMware-Cloud/services/vmc-cloud-sizer-user/GUID-7CECF719-E56B-4830-84E

NEW QUESTION 48

A cloud administrator needs to provide the security team with the ability to query and audit events and provide custom real-time alerts for the VMware NSX firewall
running In VMware Cloud on AWS.

Which solution would the administrator use to accomplish this goal?

A. CloudHealth by VMware

B. VMware vRealize Log Insight Cloud

C. VMware vRealize Network Insight Cloud
D. VMware vRealize Operations Cloud

Answer: B

Explanation:

VMware vRealize Log Insight Cloud is a cloud-based log management and analytics solution that provides real-time visibility and analytics for VMware Cloud on
AWS [1]. It allows security teams to query and audit events and set up custom real-time alerts. Additionally, it provides detailed insights into the activity of the
VMware NSX firewall, allowing administrators to quickly identify suspicious activity and take action.

NEW QUESTION 52

A cloud administrator is managing a VMware Cloud on AWS environment connected to an on-premises data center using IPSec VPN connection. The
administrator is Informed of performance issues with applications replicating data between VMware Cloud and the on-premises data center. The total bandwidth
used by this replication is 3.8 Gbps.

What should the administrator do to improve application performance?

A. Deploy VMware HCX.

B. Deploy AWS Direct Connect.

C. Deploy a layer 2 VPN connection.

D. Contact VMware support to request more bandwidth for IPSec VPN connection.

Answer: B

Explanation:

AWS Direct Connect is a service that establishes a dedicated network connection between an on-premises data center and an AWS region. This can improve
network performance, reduce costs, and increase security for applications that require high bandwidth and low latencyl.

A layer 2 VPN connection would not improve performance as it still relies on the public internet. VMware HCX is a service that simplifies workload migration and
mobility between different clouds, but it does not address network performance issues. Contacting VMware support to request more bandwidth for IPSec VPN
connection is unlikely to be effective as IPSec VPN has inherent limitations such as encryption overhead and packet fragmentation

NEW QUESTION 54
Which statements accurately describe gateway firewalls and distributed firewalls? (Select two options)

A. Gateway firewalls and distributed firewalls can share the same sets of rules and policies.
B. Only gateway firewalls use stateful rules.

C. A distributed firewall controls the 1/O path to and from a VM's virtual NIC.

D. A gateway firewall protects north-south traffic.

Answer: BD

Explanation:
Gateway firewalls are used to protect east-west traffic, while distributed firewalls control the 1/0 path to and from a VM's virtual NIC. Furthermore, gateway firewalls
and distributed firewalls cannot share the same sets of rules and policies.

NEW QUESTION 59
Which two statements depict the VMWare Multi-cloud Vision? (Choose two)

A. Deliver a consistent management and operations layer across any cloud

B. Run the workloads in the cloud to eliminate security issues.

C. Standardize at the DevSecOps and infrastructure level.

D. Reduce the number of developers to increase productivity

E. Modernize applications in the cloud of choice using the cloud-native services of that cloud provider
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Answer: AE

Explanation:

VMware Multi-Cloud Vision enables customers to deliver a consistent management and operations layer across any cloud, and to modernize applications in the
cloud of choice using the cloud-native services of that cloud provider. It does not run workloads in the cloud to eliminate security issues, standardize at the
DevSecOps and infrastructure level, or reduce the number of developers to increase productivity.

NEW QUESTION 62

A cloud administrator is looking to migrate several dozen workloads from their on-premises location to a VMware public cloud using the vMotlon feature of VMware
HCX. A total of three networks will need to be stretched for the migration. They will also be utilizing the capabilities of the WAN appliance to optimize migration
traffic.

Based on this scenario, how many IP addresses would need to be reserved for the on-premises deployment of VMware HCX?

A. four
B. five
C. three
D. six

Answer: B

Explanation:

"The VMware HCX on-premises deployment requires five IP addresses: two for the WAN appliance, two for the vMotion feature, and one for the management
network."

In this scenario, the cloud administrator is utilizing the vMotion feature of VMware HCX to migrate several dozen workloads from an on-premises location to a
VMware public cloud. They are also stretching three networks for the migration. When using vMotion, two IP addresses will be needed per vMotioned virtual
machine: one for the source and one for the target. For the migration of several dozen workloads, this will require several dozens of IP addresses. Additionally, the
administrator is also utilizing the capabilities of the WAN appliance to optimize migration traffic. In order to optimize the traffic, one IP address will be needed for
the WAN appliance on the on-premises site, and another IP address will be needed for the WAN appliance on the public cloud side. Therefore, the total number of
IP addresses that need to be reserved for the on-premises deployment of VMware HCX is the number of IP addresses required for the virtual machines plus one
IP address for the WAN appliance on the on-premises site plus another IP address for the WAN appliance on the public cloud side, which totals to five IP
addresses.

NEW QUESTION 65
A customer needs to set up a self-managed VDI solution that can be deployed to any VMware Cloud. Which two VMware solutions can meet this requirement?
(Choose two.)

A. VMware Dynamic Environment Manager (DEM)

B. VMware ThinApp

C. VMware Workspace ONE Unified Endpoint Management (UEM)
D. VMware Horizon

E. VMware Workspace ONE Access

Answer: DE

Explanation:

The two VMware solutions that can meet the customer's requirement for a self-managed VDI solution are D. VMware Horizon and E. VMware Workspace ONE
Access. VMware Horizon is a virtual desktop and application virtualization platform that enables customers to set up and deploy a virtual desktop infrastructure in
any cloud environment. VMware Workspace ONE Access provides secure access to applications, data, and devices in any cloud environment.

NEW QUESTION 69
With which solution is the cloud administrator interfacing when defining storage policies in a VMware Cloud software-defined data center (SDDC)?

A. VMware Virtual Volumes (vVols)

B. VMware vSAN

C.iscsl

D. VMware Virtual Machine File System (VMFS)

Answer: B

Explanation:

VMware vSAN is a distributed storage platform that is integrated into the VMware Cloud software-defined data center (SDDC). It provides policy-based storage
management, allowing cloud administrators to define storage policies that can be applied to virtual machines and other workloads. These policies govern how data
is stored, replicated, and secured, and are used to ensure that data is stored in a consistent and compliant manner.
https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vsphere.vmc-aws-manage-data-cen

NEW QUESTION 74
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